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QUESTION 1

Assume a table called table exists and contains 3 fields: field1, field2, field3. Examine the Access Control list for table:
Which field or fields can a user with the itil role read? 

A. field3 only 

B. filed1 and field3 

C. All fields 

D. All fields except field3 

Correct Answer: D 

 

 

QUESTION 2

Which one of the following is NOT part of the Form Designer? 

A. Page header 

B. Schema map 

C. Field navigator 

D. Form layout 

Correct Answer: B 

 

QUESTION 3

When selecting a data type for a field that will be displayed on a form, which of the following statements is NOT
correct? 

A. Use the String data type tor a free-form text field 

B. Use the Phone Number data type to automate phone number data validation 

C. Use the Choice data type to limit options in a field 

D. Use the Date data type to enter the date and time of day 

Correct Answer: D 
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QUESTION 4

What is the purpose of the coalesce field when importing data? 

A. If a match is not found, the existing record is updated 

B. To determine if a record matches an existing record or is a new record 

C. To identify and merge duplicate records 

D. When a match is found, a new record is inserted 

Correct Answer: B 

 

 

QUESTION 5

Which class is NOT part of the Client side scoped APIs? 

A. GlideDialogWindow 

B. GlideAjax 

C. GlideRecord 

D. GlideForm 

Correct Answer: C 
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